## **COCHIN PORT TRUST**

www.tenderwizard.com/CPT



Tender No: T6/T-1930/2020-C Date: 10-11-2020- (PRICE BID)

Name of Wok: "Snake & Rodent control operation at RNAs quarters area at South End & office/ quarters premises at North End & Rodent control operation at Samudrika & Port Hospital for one year"

## SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT

	Please Enter the Contractor Name						
Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	T6/T-1930/2020 -C						
1	Anti rodent operation at Multi purpose shed at BTP building by providing Anticoagulant and Zinc Phosphide baiting, using wonder traps & Glue boards and by Burrow fumigation With Aluminium Phosphide for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months as directed by the Engineer-in-Charge.	20.00	One operation	7000.00	Rupees Seven Thousand Only	140000.00	Rupees One Lakh Forty Thousand Only
2	Anti rodent operation at Cochin Port Hospital & compound by providing Anticoagulant and Zinc Phosphide baiting, using wonder traps & Glue boards and by Burrow fumigation With Aluminium Phosphide for 3for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months as directed by the Engineer-in-Charge	20.00	One operation	2500.00	Rupees Two Thousand Five Hundred Only	50000.00	Rupees Fifty Thousand Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
3	Anti rodent operation at RNAS quarters area at south end by providing Anticoagulant and Zinc Phosphide baiting, using wonder traps and by Burrow fumigation with Aluminium Phosphide for three months ie; for for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months as directed by the Engineer-in-Charge.	20.00	One operation	4000.00	Rupees Four Thousand Only	80000.00	Rupees Eighty Thousand Only
4	Anti rodent operation at New & old Ad. Block area, CAD area, Harbour House area, North End Park, quarters area by the side of Malabar road, Milni road & Indira Gandhi road at North End by providing Anticoagulant and Zinc Phosphide baiting, using wonder traps and by Burrow fumigation with Aluminium Phosphide for for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months as directed by the Engineer-in-Charge.	20.00	One operation	5000.00	Rupees Five Thousand Only	100000.00	Rupees One Lakh Only
5	Spraying the entire area with phenol emulsion or approved equivalent eco-friendly snake repellant for preventing the entry/ movement of snakes for for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months at RNAS quarters area at south end as directed by the Engineer-in-Charge.		One operation	3500.00	Rupees Three Thousand Five Hundred Only	70000.00	Rupees Seventy Thousand Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Spraying the entire area with phenol emulsion or approved equivalent eco-friendly snake repellant for preventing the entry/ movement of snakes for for 1 year ie; fortnightly during the 1st, 2nd, 4th, 5th, 7th, 8th, 10th & 11th months and 1 operation each in the 3rd, 6th, 9th & 12th months at New & old Ad. Block area, Cad area, Harbour House area, North End Park, quarters area by the side of Malabar road, Milni road & Indira Gandhi road at North End as directed by the Engineer-in-charge.	20.00	One operation	6000.00	Rupees Six Thousand Only	120000.00	Rupees One Lakh Twenty Thousand Only
	Total					560000.00	Rupees Five Lakh Sixty Thousand Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
		BIDDERS O	UOTING A	REA			
					Percentage quote below the Depar Amount	rtmental	Above/ Below
Percentage quoted above/ below the departmental amount shown in the above schedule					In Figures	In Words	
Notes: 1.The quotationer shall quote either plus or minus sign (eg: +5 or -5) and in figures and words 2. Only two decimal digits shall be accepted 3.quotationers shall also quote Above/ Below in words themselves in the last column. 4.In case of discepancy in words and figures the quoted figure in word will prevail 5.Wrongful entry of quotes shall entail disqualifications besides other actions as the Employee deem fit.			560000.00				